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The 14" Hong Kong Mathematics Cup Challenge
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According to the diagram below, AX and CX are the radii.

Which of the following is incorrect?
A

C B

A. X 2-& Fl.w (Point X is the center of the circle)
B. AY #_® /& (AY is the diameter)

C. ACX # %"= &2, (ACX 1s an 1sosceles triangle)
D. BX & X /& (BX is the radius)
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Sister is p years old this year. After 8 years, she will be

years old.
A. 8 +p B. 8p C.p-38 D. p +38

3. MERE gk | 49
Which of the following equations has an answer greater than
19
A. 0.09 x 8 B. 0.18 x 4 C. 0.38 x 3 D. 0.44 x 2
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Siu Ming paid $500 to buy 5 Mathematics reference books,

each costing y dollars. How much change should he get back?
A. by B. $500 - 5y C. $500 + 5y D. $500 -y
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